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Questions

Group counseling is concerned with:

Which of the following method for data collection is used by a counselor:

In individual counseling, the counselor:

The approach of individual counseling is:

One of the chief aims of individual counseling is to make the students:

In individual counseling, a teacher:

Which of the following is made possible due to the guidance services in schools:

The school is:

The school:

Guidance is necessary in education because:

Which of the following element has increased significance of guidance:

The objectives of education and guidance:

Answers Choice

A. Helping the students collectively
B. Successful social life of the
students

C. Overall educational performance
of the students

D. All of the above

A. Test

B. Interview

C. Observation

D. All of the above

A. Adopts a particular procedure

B. Discovers the nature of the
problem

C. Arranges visits with the students
. All of the above

@)

. Formal

. Informal

. Both formal and informal
. None of the above

A

B

C

D

A. Politically awakened
B. Self-knowing

C. Skillful

D. Patriot

A. Evaluates the activities of the
students

B. Studies the psychological
problems of the students

C. Counselees the students
individually

D. All of the above

A. All-round development
B. Educational planning
C. Social adjustment

D. All of the above

A. Transmits the cultural heritage to
new generations

B. Teachers the ideology of life to
new generations

C. Gives civic awareness to new
generations

D. All of the above

A. Forms the emotional attitudes of
the children:

B. Forms the social attitudes of the
children

C. Forms the psychological attitudes
of the children

D. All of the above

A. It provides opportunities of
education according to aptitude

B. It makes the educative process
effective

C. It solves the problems of students
D. All of the above

. Expansion of information

. Speedy scientific development
. Burning social problems

. All of the above

O0w>

. Must be harmonized

. Must not be harmonized
. Are different

. None of the above

1> oW

. Can solve man problem of a child
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Guidance in school:

With the increase in age,

For the solution of a problems, the counselee contacts a counselor who is super to himin

Counseling is

How many persons are needed to carry out the process of counseling

The central point of the process of counselling is

The experience of the experts is needed in the

Attitudes of a child resulting from home environment

B. Can make the child snobbish and
arrogant

C. Can give a child an understanding
of his abilities

A. The needs of a child change

B. The contact of a child with society
deepens

C. A child is confronted with various
problems

A. Knowledge
B. Expertise
C. Training

B. An indirect contact between two
persons

C. An imbalanced contact two
persons

D. None of the above

B. Three persons
C. Four persons
D. Only one person

B. The help provide by the counselor
C. Identification of the problems
D. None of the above

A. Selection of subjects

B. Selection of professions
C. Solution of psychological
disorders

A. Hinder him from adjustment with
school

B. Hinder him from relationing with
fellow students

C. Fall a prey to psychological
problems



